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Directions (01-04) : Read the passage
and then answer the guestions based on it
You are required to select your answers
based on the contents of the passage and

opinion of the author only.

PASSAGE

The debate about whether men are

stronger

than women is often unclear

because the word "strong” may mean many
things. For example, men are generally better
at lifting heavy objects, striking forcefully,
and doing intense physical tasks. However,
women tend to live longer than men and
often have stronger resistance to disease.
They also often excel in tasks reguiring
precision, such as those involving finger
coordination or working accurately over long
periods. So, it could be argued that women
are stronger in these respects. The truth is
that each gender is stronger in different

areas,

and to argue

otherwise is fto

oversimplify the topic,

1. Why is the debate about whether men
are stronger than women unclear ?

(a)

(b)

(<)

(d)

Because both genders are equally
strong in all aspects.

Because the word “strong” may
mean many different things.
Because men are always stronger

than women.

Because strength is only measured
by physical power.

2.  According to the passage, men generally
excel at which of the following ?

(a)
(b}
fe)
(d)

101

Living longer.
Tasks requiring precision.

Lifting heavy objects and physical
labour.

Resistance to disease.
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3. What strength do women tend to have
over men, according to the passage ¥

{a) They are better at lifting heavy
objects.

{b) They live longer and have stronger
resistance to disease,

{c) ‘They can strike forcefully.

(d) They are stronger in physical
labour.
4, What is the main message of the
passage ?
{a) Men and women are equally strong
in all areas.
(b} All women are incapable of

running, jumping and doing
physical labour because they are
not strong.

(¢ Men and women are strong in
different ways, and the argument
about one being stronger than the
other oversimplifies the topic.

(d) Only physical strength should be
considered when COMparing
genders.

Directions (05-09) : In the following
questions, out of the four alternatives, select
the word nearest in meaning to the words

given.

5. Vitriolic
{a) Imaginative (b] Sprightly
e}  Vivacious (d] Abusive
6. Candid
{a) Kind (b) Courtecus
{c] Generous (d) Frank
7. Profane
(a) Assert {b) Benefit
{c] Lengthen [d) Desecrate
8, Interpolate
(a) Clarify (b) Investigate
{c) Reverse (d) Insert
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9,

alternative that is most nearly opposite in (s

e

Nadir

{a) Asylum {b) Heaven

{c] Lowestpoint ({d} Zenith
Directions (10-14) Choose the

meaning to the given words.
10. Fiasco
la] Success (b) Joy
(e} Fun (d] Disaster
11. Confident
la] Imprudent (b} Impatient
(c) Diffident {d) Reluctant
12, Mammoth
(a) Significant (b) Small
[c) Unruly (d) Noisy
13. Engrossed
(@) Occupied (b} Inattentive
(¢) Engaged (d) Absent
14. Altruistic
a] Selfish {b) Inhuman
e} Brutal (d) Wicked
Directions (15-17) : Choose the

alternative which best expresses the meaning
of the given idioms/proverbs :

15.

16.

To leave no stone unturned
a) to keep clean and tidy
(b} to try utmost

(c) to work enthusiastically
{d] to change the things

Through thick and thin
(&)
(b}
c)
(d)

big and small
large object
under all conditions

thin and fat
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17. 1l at ease
[a) Restless ib) Worthless
¢} [Listless (d) Sleepless

Directions (18-20) : Out of the given
alternatives, choose the one which can best
ke substituted for the pgiven words or

sentence,
18. One who cannot be corrected.
{a) Incurable (b} Incorrigible
{¢) Hardened (d) Imvulnerable
19. One filled with excessive and mistaken
’ enthusiasm in a cause.
(a] Pedant (b) Patriot
e} Fanatic (d) Martyr
20. An office with no work, but high pay.
(g} Honorary {b) Sinecure
e} Ex-officio (d] Reticent
21. The loudness of sound depends upon the
{a) velocity of sound waves in the
medium
(b) amplitude of the sound waves
{¢) frequency of the sound waves
{d) frequency and velocity of the sound
wWaves
21, & B yEear AR @ 8
() HEOH F exfy wet @ A 9w
(b) eaf Tl @ A W
() eafy T W amghy W
@) ef g @ emghy iR 9T R
22. The absolute zero temperature is 0O
Kelvin. In degree celsius ("C) unit,
which one of the following is the
absolute zero temperature 7
fa)y 0°C (b) -100°C
(e =-273.15°C (d) -173.15°C
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2. W9 ¥ TR 0 sfead B R
Afewas (°C) wrFe § 9T I T
Prafafen & § F—w 8 ?

(a) 0°C (b) -100°C
(¢) -273.15°C  (d) -173.15°C
23. Brine is an agueous solution of
(8) MNaCl (b) NaOH
[c] NaHCO,4 {d) Na,CO,
23, v vl (amee) fewar wetg fage 27
(a) MNaCl (b) NaOH
() NaHCO, (d) Na,CO,
24, Blood is a type of
(a) Epithelial tissue
(b} Muscular tissue
[c) Nervous tissue
(d) Connective tissue
24, g9 UH WHN &
(a) SUHA HAd B
b) T wOE B
() wf=® Fod &
(d) el Haw 8
25, ‘Lub-Dub’ sound is produced due to
action of
(a) Large intestine
{b) Lungs
(c) Heart
(d) Oesophagus
25, ‘we-=& @ fewdr fEmm @& HRT
Sege B 8 ?
(@) w0 & (b) BES
(c) ®ed (d) T
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Who was the Education Minister in the
first Cabinet of Independent India ?

{a) Sarvepalli Radhakrishnan
{b) Sardar Vallabhbhai Patel
{¢} Maulana Abul Kalam Azad
(d) Acharya Narendra Dev
06, W@EF WG & wer wiAvee A fren A=
EaEi i
(a) TR T
(b) TRER FeerHIg Ued
(c) HITHl ¥ge Ferd AT
(d) amerd A &

27.

which ene of the following associations
was founded in London by Dadabhai
MNaoroji in 1866 2

(e
(b]
(e)
(d)

The Bengal British India Society
The East India Association

The British Indian Association
The Madras Native Association

o7. =4 1866 3 TEME AR BN w=A A,

28,

fyfafag & @ B8 w9 (R
TG B TS P

(@) T &ma Aty s v

(o) = ¥C TS THIRIGIT

7 fafewr sfteas vafgem

T e Hfed THIRTIE

Who is presently the Secretary General
of United Nations Organisation :

{c}
(d)

{a) Antonio Guterres

(b) AminaJ. Mohammed
{c) Dennis Francis

{d) None of these
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28. FAM ¥ WgEW WS WA P FEAAG B
€7
@ veRE Y
(b) ST S0 HIEEE
(c) = Wit
(@) FTHH PIE T
29. Jelep La pass is located in
(a) Punjab Himalaya
(b} Sikkim Himalaya
{c] Kumaon Himalaya
(d) Keshmir Himalaya
29, TJ—aT &Y HEN A B ?
(a) uwTE femTErT
(b) fafews e
() FE feArera
(d) @R fRwrea
30. Which one among the following is the
coral group of islands of India ?
(a) Andaman (b) Nicobar
(c) Barren |d) Lakshadweep
30. f=foea & & FF-9 F ¥YRG H
ware go—wE & ?
(a) SWEHH (b) FremER
() A% (@) wEE
31. Which one among the following is not a
Fundamental Right under the
Constitution of India ?
{a) Right to equality
{b) Right to freedom
(c) Right to citizenship
(d) Right against exploitation

(A-6)
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Hd & WU ® e refared § 9
BF—a U Afes (1) sifter T8 8 7

(a) VI T AEN

(b) &I FT ARHR

(¢} AR B JRER

d) W & [Tog ler

The 'Basic Structure Doctrine’ was
enunciated by the Supreme Court
during the

[a) Golak Nath case

(b) Maneka Gandhi case

{c} Kesavananda Bharati case

(dl S.R. Bommai case

ETeE He famra @R wER
i) Segan aTeg g e wme
& g et frar T ?

{a) TS AHA
(b) E® T A
(c) AR WK AHAT
(d) U0 SN0 WEE AT

Who among the following was not a
member of the Drafting Committee of
the Constitution of India ?

{a) B.E. Ambedkar
() K M. Munshi

(e} Krishnaswamy lyer
(d) M. K. Gandhi

T U B AR @ i @ yree
wfafa @& "eva e o1 7

(@) H0 RO FESFR
(b) 0 THO HE
(c) PO A
(@) O Fo e
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34.

34.

35.

335,

36.

36.

37.

Which one of the following is not an
ASEAN member ?

(e) Cambodia (b) Laos

(¢ Myanmar |d) Taiwan
fp=ferfga % & 19— TS ASEAN &I
W TE 8 7

(a) FHEIETT (b) TR

(¢) WIMR (@) TrgEr

In the term GIS, ‘G’ stands for

(a) Google (b) Geographic

[c] Goodness (d) Geological
gsTede e foge?

(@) T (b) foraTTthe

() eI (d) P
What will be obtained by multiplying the

difference obtained by subtracting 3%

from 9% by 450 ?

(a) 2250 (b) 2045
(c) 2540 (d) 2450

9%#% %mrwmﬁmaﬁdrsu
A O HET I T T B 7

fa) 2250 (b) 2045

{c] 2540 (d) 2450

If ik B N then, what is the value of
2 2 5

ratio (C+A) : (A+B) :(B+C)'?
(a) 64:25:49
(b) 54:35:39
(c) 64:55:49
(d) 64:25:51]
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39.

40,
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, @ e
+C) &1 A4 w27

7fe A
_:E=
3 2

(C+A)y:(A+Bf

|6

o]

(@) 64:25:49 (b) 54:35:39
() 64:55:49 (d) 64:25:51

Two numbers are in the ratio 1 : 3. If
their sum is 240, then what is their
difference ?

(@) 120 (b) 108

] 100 (d) 96

q HWemd 13 @ agua # #) ulR
TEl AMTEE 240 BN, AT gF@ N
frem & ?

(8 120 (b) 108

(¢} 100 (d} 96

A alone can finish a piece of work in 20
days while B alone can finish it in 25
days. Both work together for 5 days. Then
B leaves the work. In how many days can
A alone do the remaining work ?

(a) 11 b) 13

(e} 15 (d) 17

A FHeT TH I @ 20 G A wAw
HY WA & GElD B JH 39 HE B
25 feq 4 9w P wWear & g
frese 5 fam = o0 & file B &9
BredY del N £ 9¥ @d @ A
ardhen fepae e & @ wrdm ?

(@) 11 (b) 13
() 15 (d) 17

A can do a piece of work in 4 hours, B
and C together in 2 hours and A and C
together in 2 hours. In how much time
B alone can complete the work ?

(@) 10 hours {b) 12 hours
{c}] 8 hours (d} 24 hours
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A TF B @ 4 HE H§ B T ¢ fAeaw
3 v ¥ @ A 3l c fAesy S99 2
e ¥ R P WA E| B ¥wen IH

®rd w1 e g QR e ?
(@) 1097
(b) 1292
(e 8HWE
(d) 24"V

A man goes from A to B at the speed of
60 km/h and returns from B to A at the
speed of 40 km/h. What is his average
speed for the whole journey ?

(a) 50 km/hr
(b) 48 km/hr
(€] 45 km/hr
(d) 55 km/hr

e @fed A 9§ B @ 60 fdle ufe
guer H g W FET 2 9 B § A T
40 fFfte oft Tver & 75 | e 8|
Wt g @ forg sweR sftea T
fHT 8 ?

(@ 50 fEHie /HeT
(b) 48 fdffe /HET
(c) 45 o /der
@) 55 f&e /HeT

A person goes from point A to point B at
the speed of 4 km/h and returns from
point B to point A at the speed of 6
km/h. What will be the ratio of the time
taken to reach from A to B and the time
taken toreach rom Bto A 7

(a) b) 2:3
(c) (d 3:2

o
B |
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vm @ g A @ g B 9 4
fadto / mver 1 i | e & @ 9w
fog B @ fig A @@ 6 f&¥lo,/ wwem
@ 7fe 9 e €1 A 9 B a@ TgEd
991 B § A TF AW H @ WG @
FUTeT @91 N 7

(a)
(c)

Simple interest on a sum of money is

5:3 b] 2:3

2:1 d) 3:2
equal to % of principal, and number of

vears is equal to rate of interest. What is

the percentage rate of interest per
annum ?

la) 2.5% (b) 5%

(el ?%% (d) 10%

ﬁﬂﬂ?ﬁwwmqﬁmm%

2 For aut @ Hew, ufaee =X % avEy
2w & affe a2 7

la) 2.5% (b) 5%

(c) T%% @ 10%

Find the compound interest of Rs.
125000 at 8% per annum for 9 menths,

when the interest is payable quarterly.

(a)
ic)
125000 B0 T 8% Tf¥F ¢ | 9 A& &

252 g1 £ B 1 LR 1 T
fomrer %9 8|

7651 %0

Rs. 7651 (b) Rs. 7605

Rs. 8652 (d) Rs. 8052

(&) (b) 7605 %0

8652 %0 (d) 8052 %0

(c)
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45,

46.

46.

47,

47,

48.
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What is the value of {0.74 +0.48 +0.90)
(a) L1.87 ) 214

(¢) 356 (d) 412

(0.74 +0.48+0.90) &1 = @1 & 7

la) 187 b 2.14

() 356 (@) 412

A set of instructions in a sequential
manner telling the computer what to do
is called :

{a) Instructor
(c) Program
TRIEY @, 99 &A1 8, g8 qar @ forg
RA T T P (R) 3 W
(set) T THET AT 8§ :

(a) F¥EIN (b) FHIRER

c) WA (@) F—arE

Electronic components predominantly
used in first generation computers were

(a)
(b)
(c)
(d)
e O B FeEy § T WY 9
ﬁﬁﬂﬁ‘rﬁﬂiﬂﬁﬂﬂﬁﬁﬁ:

(&) FHESHT T

(b) AfoTRER

(c) frrafe ey

(@

A source program is directly converted
to .exe file by which of the following ?

(b} Compiler
{d}) Key-Board

Magnetic drum
Transistor
Vacuum tubes
IC

(b) Interpreter
(d) Linker

{a) Compiler

) Assembler
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= § @ fawe g9 e =0 WHH
WY exe BIEA # viafha g & 7

(a) TETEEN (b) FEwHER

(c) oTH=EN (d) e

Which protocol is commonly used on
internet to exchange files ?

(a) Telnet (b) Gopher

(c) FTP (d) SP

BEA & AgE-4cel BY FEve W
gwr: fea uewta &1 euan e
W 87

(a) TeHT

(c) UWoElcdio

Which of the following command is used
to-add hyperlink in a document ?

(b) TIMET
(d) wHedlo

) Ctrl+F (b) Ctrl+ K

[c) Ctrl+B (d) Ctrl+V

e SO § EEYeE e @ o
e # 9 foew @i &1 wam fEFar S
27

(@) Ctl+F (b) Ctrl +K

¢} Ctl+B {d) Ctrl+V

The type of memory which is fast and
temporarily stores the data which are
immediately required for use is called

as;
(s} HDD (b) ROM
(c) RAM (d) SSD

FAN HT 98 FHR W aF & SR el
w0 ¥ @fa gifod sifest & dulsd
oYl B

HDD
RAM

(b) ROM
(d) SSD

()
e)
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22

52,

53.

54,

54,

59,

23,

101

. A web page is primarily written in the 56.

language
a] C++ (b} Python
[c) HTML {d} Java
forar i &1

56.
(a] C++ (b) 9rEeS
() HTML (d) wTET
Every web page has an address
associated with it. This address is
known as

S7T.
(a) URL (b) IP
cj TCP (d} Browser
B 49 UW @ W UF I Ger el 2|
(] URL (b) 1P 57,
(e} TCP (d) #TaWN
A popular protocol for sending e-mail is
(8) TCP (b) UDP
() SMTP (d) HTML
-4 wo & fog va At derel -
& i
&) TCP (b) UDP
(c) SMTP (d) HTML
MAC address is .....cooovvivninenns bits long.
(a) 24 (b) 48 &8,
c] 124 (d) &4
A& (MAC) TRW ......... [CH &7 BTl 8
(a) 24 (b) 48
) 124 (d) 64

{A-10)
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Temporary storage area that
compensates for differences in data rate
and data flow between devices is known
=T T

la) Bus (b} Channel

{c] Modem (d) Buffer

FRYTET YOSV & Wl IUSIO H 4™
27 =X 3w 21 vaE @ e & R
FAT & 98 HEonal ©

(b) A

(d) TR

(a) ®H

() S
FTP stands for
a] Folder Text Protocol
(b)  File Transfer Push

(c) Fixed Terminology Flacement

(d) File Transfer Protocol

FTP & aedd &

(a) FITRR THT WD

(b) TS FIHBY I

(c) froae efifFme wai<e
(d) TETEE ETIN HIETRE

All the deleted files go to

(a) Recycle Bin

(b) Taskbar

(e Tool bar

(d] My Computer

W fecfie & g8 wge e J o 2
(a) TreTawe @

(b) ERERER

(c) TEER

(d) TS TR
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59.

5O,

B0.

60.

Which of the following is not an
operating system ?

(a) DOS (b) UNIX

[c) LINUX (d) MS-Office
frfafad # 9§ o9 sifnfen fawen =8
87

(a) T (b) e

() feres (d) THOTHO St

The process of switching from one open
windeow to another is called

(a)] Task switching (b} System call
ic) Moving (d} None of these

TE ST fase ¥ o sl fasst A
i B e B 1 O 1 L 5

fa) T Rl (p) Ried @@
(c) AT (@) P T
e (61-65) : F=fofag & & 4=

FIA1 918 TS T T8 Sifey—

B1.

62.

63,

B4,

B5.

(a) faerry (o) fageras
€ fazerm (d) fawersor
la) HESTH (b) EEEOT
(c) ¥reeryTr (d) HwrEE
(a) HfEATS (b) WTENGE
(c) wTEfT® (d) wifefeas
(a) RR (b) v
c) FEEHR (d) TR
(a) et (b) freisich
(c) Fremsfar @ freerefe
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frdwr (66-70) : Frforfe s wiel &
fog e g wwe fay v Rt d -
66. forad WA g1 7 B1-
(a) ifHE (b) w@fif®
(c) wfem (d) s
67. T8 WD g WE Y I H TN
et B
(a) LR (b) ¥ATE

fc) W ¥ (d) 3T

68. T ¥ H BT HYAT B
a) IS (b) e
C (@) fdd
69. foH® FN—IR ST W HI—
(a) X (b) el

fc) e (d) SrTeTEE
70, Mg | 97 Afd-

la) @S (b) @R

€) = (d) o

fEw (71-72) @ F=fafaa geEs/
wrefaagl o1 aeh 9 e for v fawei H 9

T
71. AR B G W "o @ of 8-
(a) I B
(b) ERTReTE @R oAl
(c) = F=
(d) Fiea T FET

72, ‘B @7 #a @ aref -
(a) T TN (b) P TG
(c) wET T (d) | TG

(A-11)
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fader (73-76) : frefafad sraaRor @1
W dEF & fREwgar @, &y T et i
¥ g

@ A forw W] F OEl, 99 98 9Ed
I% N & w9 9w AW @ Wi, wten o
STEAT | W A8 9 | g =@E § fF g
a—dr B a1 TvEr e B e & am,
W4 I EIGY U A BN @Y ol 8, O S
B w W ok wifly @ geeT e o /s
8, foret s W= omR ok wif & amee
¥ faqw vear 2| o 78 & oo @ 09,
o & 9o |y s @, 99 T ImEa
U G o < A Es o S
apTEny YEal & | 9ue fag @ & 9w o FE
2| ST, SHE—PE ¥ SO 5@ B
o et § 48 aME—Fer wWIfds &
W 8, W 9w A W f@m & o g2
omar &1 7 T o1 Swew 98 g g
v 7 O dWHN IS W BT 8| F W
wam gifeas Sitas @1 S garar 7ar € |

73. NS T WE HNE e—
(a) AT (b) EF—G
() @ e e () @ e i

8 W RVl Wed  WTaHy  wl
el 8 ?

(a) @€ Wiftad HEA S o €

(b) ToE=T & 9+ & yg= & @ 9%
FH! ITEL S| Horan
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Direction (81-84) : Read the following
information carefully and answer the
questions given below it ;

Six friends A, B, C, D, E and F are
gitting in a row facing towards North. C is
sitting between A and E. D is not at the end.
B is sitting immediate right to E. F is not at

the right end.

21. How many persons are there to the right
of D ?
(a] One (b) Two
[z} Three (d} Four

82, Which of the following pairs is sitting to
one side of D ?

(a) FB (b) FC
{ci FE (d) AC
83. Who is sitting immediate left of C ?
fa) A () E
ic} B d F
B4. Who is at the right end ?
fa) A (b} B
(c} E (d) F

fAdw (81-84) : fA=loifas el &I
Ty o alv 4@ Ry v g @
S A

UE ST A, B, C, D, E 3R F o8 &1
SR 9 wed (9 90 F 40 T c, A SN E
THg TRl DT H S 8| B,E® O
gW ST & | F S0 § 3@ # 78 &

81. D& =l ¥R e afgm & 7

(a) W& (b) &I
(c) (d) =X
g2, frafafag A 9 - TR D & &
v do1 2 7
(a) FB (b) FC
[c) FE (d) AC

GET IT ON
Google Play

83, CH OF ¢ NG P doT & ?

a) A (b) E
(e} B (d) F
84, T[T fF R B 43T 7
(@) A (b) B
e} E (d) F

Direction (85-87) : Read the following
information and answer the gquestions given

below :

B is the mother of A, C, B's gister, has a
son D and a daughter E. F is the maternal
uncle of D.

85, Howis Arelated to D ?
(al Cousin (b} Nephew
(¢} Maternal Uncle (d] Brother
86. How is E related of F ?
{a) Sister (b) Daughter
[e] Niece (d} Wife
87. How many nephews does F have ?
{a) Nil (b] One
(e Two {d] Three
fade (85-87) : =fefag Ao od
3R A ffr v gl @ e g

B,A @ H &) C, B ® 989, # U& del
DESFRUHFEAEI EE|F,D & AF B |

85. A, D ¥ fbg yeR ddfdw & 7
(a) HENT HIS (b) HIWT

(c) AT (d) =g
86. E,F ¥ frg vor w4 & 7
@) EF (b) 9
(e) Gl (d) T
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87, F& fhom Wi € 7
(@) THEWAE  (p) @
() & (d) T

Direction (88-90) : In each of the
following guestions, find out how many such
pairs of letters are there in the given word,
each of which has as many letters between
them in the word as is/are between them in
the English alphabet.

88, NECESSARY

(a] One (b) Two

[e] Three (d) Four
B9. PREAMBLE

(a) One (B Two

(c) Three {d) Four
90. ORIENTAL

(a) One (b} Two

ic) Three (d} Four

GET IT ON
Google Play

fade (88-90) : Fr=faifie 4 ¥ W=
ed # faw U owswm A o & Ud fhae @i
g e &g 9= & 9v € R 1% sien
auiRTer # 3@ 4 B § 7

88, NECESSARY

(@) UH (b) &
fc) = (d) =M

B9. FREAMELE

(a) T (b) =T

fc) ™ (@) =X
90. ORIENTAL

(a) W& (b) &

e @ (d) =
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bk G L et e T B 1 A o = P B R B R R

8. @ wE-YRaw ¥ W FH % fam < g% B M E)

9.  udw o4 ¥ dogeer, TR U /99, WEEE B A gednie Suse Wy # vE v
THHE FUINT T qford & |

10.  agedhnor 3w @4 % o <8 fF OMR Sheet @1 qw0idd soidg e 73 g fan o &
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Note : English Version of the instructions is printed on the First Page of this Booklet.
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